Example of a Key Word Outline
INTRODUCTION

MARK TWAIN ANECDOTE




       (Make eye contact)
GLOBAL WARMING ALIVE AND WELL

COUNTRY MOUSE-CITY MOUSE


    (Slower and more expressive)

THREE CAUSES:  WOODLAND LOSS, INDUSTRY, ENERGY


(Pause)

BODY

I. 
GRADUAL WARMING FROM HUMAN ACTIVITIES


A. HIGH CONCENTRATION OF CARBON DIOXIDE



1. FIVE TONS PER YEAR



2. TRAPS HEAT



3. 1998 RECORD HIGHS


B. HOLE IN OZONE



1. 1998 HOLE RECORD SIZE



2. MORE ULTRAVIOLET RADIATION


C. FUTURE PROBLEMS



1. CLIMATE CHANGES



2.  HEALTH PROBLEMS
    (Pause and look around room: transition here)

II.
CAUSE: LOSS OF WOOLANDS


A. FOOTBALL FIELD PER SECOND


B. CUTTING


C. BURNING








(Pause)

III.
CAUSE: INDUSTRIAL EMISSIONS


A. 20 PERCENT OF AIR POLLUTION

B. AMERICANS WORST OFFENDERS


C. LIGHT ON HORIZON



           (Pause and be emphatic!)

IV. 
CAUSE: PERSONAL ENERGY CONSUMPTION


A. SINGLE LARGEST CAUSE




       (Stress these points)



1. FOSSIL FUELS = 90 PERCENT


B. ENERGY BINGE



1.  HOMES



2. TRANSPORTATION




 (Longer pause)
CONCLUSION

LISTEN, WATCH, SMELL
GORE STORY ABOUT FROG





    (End strong!)

REFERENCES (USE APA STYLE)

